Physics 2.1 Worksheet
1.  If Joe rides his bicycle in a straight line for 15 min with an average velocity of 12.5 m/s south, how far has he ridden? v=d/t
2.  A bus travels 280 m south along a straight path with an average velocity of 88 m/s to the south.  Then, it travels 210 m south with an average velocity of 75 m/s to the south. 

a.  How long does the 1st trip last?  v=d/t

b.  How long does the 2nd trip last?  v=d/t
c.  What is the average velocity for the total trip? (total distance / total time)
3.  Two students walk in the same direction, at a constant speed – one at 9 m/s and the other at 19 m/s.  If they both walk for 460 seconds, how far did each student walk?  s=d/t
Unit 2.2 Worksheet

1.  A car traveling at 7 m/s  accelerates at 2.5 m/s2 to reach a speed of 12 m/s.  How long does it take for this acceleration? a=(vf-vi)/t
2.  Suppose a treadmill has an average acceleration of 4.7 m/s2.  How much does its speed change after 5 min? 

a=(vf-vi)/t
3.  An automobile with an initial speed of 43 m/s (accelerates uniformly at the rate of 3 m/s2).  Find the final speed and the displacement after 5 s. a=(vf-vi)/t
Physics – Unit 2.3 Worksheet

1.  A robot probe drops a camera off the rim of a 238 m high cliff on Mars, where free fall acceleration is -3.7 m/s2.


a.  Find the velocity with which the camera hits the ground.     Vf2 = Vi2 + 2(a)(x)

b.  Find the time required for it to hit the ground.  x = .5 (Vi + Vf) t
2.  A flowerpot falls from a windowsill 250 m above the sidewalk.


a.  How fast is the flowerpot moving when it strikes the ground? Vf2 = Vi2 + 2(a)(x)
b.  How much time does a passerby on the sidewalk below have to move out of the way before the flowerpot hits the ground? Vf = Vi + (a)(t)
3.  An elevator is moving upward at 1.2 m/s when it experiences an acceleration of .31 m/s2 downward, over a distance of 7500 m.  What will its final velocity be?  Vf2 = Vi2 + 2(a)(x)
4.  A juggler throws a bowling pin into the air with an initial velocity.  Another juggler drops a pin at the same instant.  Compare the accelerations of each.

5.  A tennis ball is thrown vertically upward with an initial velocity of +8 m/s.  


a.  What will the ball’s speed be when it returns to its starting point? 

b.  How long will the ball take to reach its starting point?  Vf = Vi + (a)(t)
6.  Calculate the displacement of a volleyball when the volleyball’s final velocity is 11 m/s.  The initial velocity is 6.0 m/s straight upward.  The volleyball starts 2 m above the floor. Vf2 = Vi2 + 2(a)(x)
